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QUESTION 1

A LOB column with BLOB(40) INLINE LENGTH 40 has been defined. Which statement is correct? 

A. The data is only stored in the auxiliary table. 

B. The data is only stored in the base table. 

C. The complete data is stored both in auxiliary and in base table. 

D. The first part of the data is stored in the base table and second part is stored in the auxiliary table. 

Correct Answer: B 

 

QUESTION 2

Which clone table statement is correct? 

A. A clone table can have its own indexes. 

B. A clone table has its own catalog statistics. 

C. The clone and base tables share a table space. 

D. The clone and base tables must have different schema names. 

Correct Answer: C 

 

QUESTION 3

What trace class will show deadlock information? 

A. Audit class 3. 

B. Statistic class 3. 

C. Accounting class 1. 

D. Performance class 8. 

Correct Answer: B 

 

QUESTION 4

Which of the following results in improving performance of a load job to load data into an indexed partitioned table space
with multiple indexes? 

A. LOG YES 

Latest C2090-612 Dumps | C2090-612 Study Guide | C2090-612 Braindumps                                2 / 3

https://www.geekcert.com/c2090-612.html
https://www.geekcert.com/c2090-612.html
https://www.geekcert.com/c2090-612.html


https://www.geekcert.com/c2090-612.html
2024 Latest geekcert C2090-612 PDF and VCE dumps Download

B. PREFORMAT 

C. SORTKEYS integer 

D. convert input data 

Correct Answer: C 

 

QUESTION 5

Using the -SET LOG command, what logging characteristics CANNOT be modified? 

A. The number of minutes between the start of successive checkpoints. 

B. Add a newly defined active log data set to the active log inventory. 

C. Altering DB2 from dual active logging mode to single active logging mode. 

D. The number of log records that DB2 writes between the start of successive checkpoints. 

Correct Answer: C 
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